
Mathematics/Matemáticas
Student Test Booklet/Folleto de prueba del estudiante

Bilingual
Spring 2011/Primavera de 2011

Grade
Grado

Ohio Achievement Assessments
Evaluaciones de 

rendimiento de Ohio

Name/Nombre: _________________________________________

hio Department
of Education

8

Copyright © 2011 by the Ohio Department of Education. All rights reserved.

Esta evaluación fué originalmente administrada a estudiantes en
Primavera de 2011. Este material público es apropiado para uso por
parte de maestros en Ohio en situaciones de enseñanza. Esta
evaluación está alineada con los Criterios Académicos de Contenido
para Matemáticas de Ohio.

This test was originally administered to students in Spring 2011. This
publicly released material is appropriate for use by Ohio teachers in
instructional settings. This test is aligned with Ohio’s Academic Content
Standards for Mathematics.



The Ohio Department of Education does not discriminate on the basis of race, color, national
origin, sex, religion, age, or disability in employment or the provision of services.



Ohio Grade 8 Mathematics Achievement Assessment Reference Sheet

Information that may be needed to solve problems on the Mathematics Test:
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Volume Formulas 
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Directions:

Today you will be taking the Ohio Grade 8 Mathematics Achievement Assessment. 
Three different types of questions appear on this test: multiple choice, short answer 
and extended response. 

There are several important things to remember: 

1. Read each question carefully. Think about what is being asked. Look carefully at
graphs or diagrams because they will help you understand the question. Then,
choose or write the answer you think is best.

2. Use only a #2 pencil to answer questions on this test. You may use a calculator on
this test.

3. Refer to the Mathematics Reference Sheet in your Student Test Booklet for
mathematical formulas and expressions. You may remove this page from your
Student Test Booklet.

4. For multiple-choice questions, fill in the circle next to your answer choice. Mark
only one answer for each question. If you change your answer, make sure you
erase your old answer completely. Do not cross out or make any marks on the
other choices.

5. For constructed-response questions, write your answer neatly, clearly and only in
the space provided in your Answer Document. Any responses written in your
Student Test Booklet will not be scored.

6. Short-answer questions are worth two points. Extended-response questions are
worth four points. Point values are printed near each question in your Student Test
Booklet. The amount of space provided for your answers is the same for all 
two- and four-point questions.

7. You may use the blank areas of your Student Test Booklet or the optional grid
paper in your Answer Document to work out and solve problems. Do not tear out
the optional grid paper from your Answer Document. 

8. If you do not know the answer to a question, skip it and go on to the next
question. If you have time, go back to the questions you skipped and try to
answer them before turning in your Student Test Booklet and Answer Document.

9. Check over your work when you are finished.
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Instrucciones:

Hoy participarás de la Prueba de evaluación de matemáticas de 8.° grado de Ohio. 
En esta evaluación, aparecen tres tipos diferentes de preguntas: de opción múltiple, 
de respuesta corta y de respuesta extendida. 

Existen varios detalles importantes que debes recordar:

1. Lee atentamente cada pregunta. Analiza lo que se pregunta. Observa con
atención los gráficos o diagramas porque te ayudarán a comprender la
pregunta. Luego, selecciona o escribe la respuesta que consideres correcta.

2. Para responder a las preguntas de esta evaluación usa solamente un lápiz N.º 2.
Para esta prueba, puedes usar una calculadora.

3. Consulta las fórmulas y las expresiones matemáticas de la Hoja de referencia 
de matemáticas del Cuadernillo de evaluación del alumno. Puedes sacar esta
página de tu Cuadernillo de evaluación del alumno.

4. Para las preguntas de opción múltiple, completa el círculo junto a la opción 
de respuesta que hayas elegido. Marca solamente una respuesta para cada
pregunta. Si cambias tu respuesta, asegúrate de borrar completamente la
marca anterior. No taches ni hagas otro tipo de marcas en las demás opciones.

5. Para las preguntas cuyas respuestas debes elaborar tú mismo, escribe de
manera clara y ordenada, y solamente en el espacio proporcionado en el
Documento de respuestas. Todas las respuestas que escribas en el Cuadernillo
de evaluación del alumno no se calificarán.

6. Las preguntas de respuesta corta valen dos puntos. Las preguntas de respuesta
extendida valen cuatro puntos. El puntaje se indica al lado de cada pregunta
en el Cuadernillo de evaluación del alumno. El espacio que se proporciona para
las respuestas es el mismo, independientemente de si se trata de preguntas de
dos o cuatro puntos.

7. Puedes usar los espacios en blanco del Cuadernillo de evaluación del alumno 
o el papel cuadriculado opcional que está en el Documento de respuestas 
para resolver los problemas. No arranques el papel cuadriculado opcional del
Documento de respuestas.

8. Si no conoces la respuesta a una pregunta, puedes saltarla y seguir con la
pregunta siguiente. Si tienes tiempo, regresa a las preguntas que dejaste sin
responder e intenta responderlas antes de entregar el Cuadernillo de evaluación
del alumno y el Documento de respuestas.

9. Revisa todo tu trabajo cuando hayas terminado.
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Item 1 has not been slated for public release in 2011.
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La pregunta número 1 no ha sido marcada para ser
hecha pública en el 2011.
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2. Each Friday, Julie’s track club runs two miles.
The graph shows the amount of time that it
takes Julie to run the 2 miles each week over
a period of 20 weeks.

Which describes the relationship between the
number of weeks Julie practices and her
running time?

A. Julie is running at a slower rate
each week.

B. Julie decreases her time by about
20 seconds each week.

C. Julie decreases her time by about one
minute each week.

D. Julie is likely to run the 2 miles in
12 minutes during the 21st week.

741; 8M0000DXFXM0590B
FT Form B OC04 (27); Op Form A SP07 (9)
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2. Todos los viernes el grupo de atletismo 
de Julie corre dos millas. El gráfico muestra 
el tiempo que demora Julie para correr 
2 millas cada semana durante un período 
de 20 semanas.

¿Cuál de las siguientes opciones describe 
la relación entre la semana en que Julie
practica y el tiempo que demora en 
recorrer la distancia? 

A. Julie corre a una velocidad más lenta
cada semana.

B. Julie disminuye su tiempo en alrededor
de 20 segundos por semana.

C. Julie disminuye su tiempo en alrededor
de un minuto por semana.

D. Es probable que Julie corra las 2 millas 
en 12 minutos en la semana 21.

741; 8M0000DXFXM0590B
FT Form B OC04 (27); Op Form A SP07 (9)
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3. Which value for x makes the inequality 
–4x – 5 > 11 true?

A. x = –6

B. x = –4

C. x = 4

D. x = 6

10960; 8M0000AXFXL1735A
FT Form A SP06 (14)
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3. ¿Qué valor de x hace que la desigualdad 
–4x – 5 > 11 sea verdadera?

A. x = –6

B. x = –4

C. x = 4

D. x = 6

10960; 8M0000AXFXL1735A
FT Form A SP06 (14)
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4. The president of a company is comparing
employees’ ages in two departments: design
and sales. The stem-and-leaf plots show the
ages of the employees in each department.  

Which statement is true about the 
median and the mode of employees’ ages 
in each department?

A. The median and the mode of the
employees’ ages in the design
department are both greater than in the
sales department.

B. The median and the mode of the
employees’ ages in the sales 
department are both greater than in the
design department. 

C. The median of the employees’ ages is
greater in the design department, but the
mode of the employees’ ages is greater
in the sales department. 

D. The median of the employees’ ages is
greater in the sales department, but the
mode of the employees’ ages is greater
in the design department.

12544; 8M0000DXDXL2001B
FT Form G SP07 (24)
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4. El presidente de una empresa compara las 
edades de los empleados de dos departamentos:
diseño y ventas. Los stem-and-leaf plots 
muestran las edades de los empleados de 
cada departamento.

¿Cuál de estas oraciones es verdadera sobre 
la mediana y la moda de las edades de los
empleados de cada departamento?

A. La mediana y la moda de las edades de 
los empleados en el departamento de diseño
son ambas mayores que en el departamento
de ventas.

B. La mediana y la moda de las edades de 
los empleados en el departamento de ventas
son ambas mayores que en el departamento
de diseño.

C. La mediana de las edades de los empleados
es mayor en el departamento de diseño, pero
la moda de las edades de los empleados es
mayor en el departamento de ventas.

D. La mediana de las edades de los empleados
es mayor en el departamento de ventas, pero
la moda de las edades de los empleados es
mayor en el departamento de diseño.

12544; 8M0000DXDXL2001B
FT Form G SP07 (24)
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6. A contractor is installing a new concrete

sidewalk. The sidewalk will be 580 feet long,

9 feet wide and 6 inches deep. 

Trucks will deliver 10 cubic yards of concrete
in each truckload.

In your Answer Document, determine how
many truckloads of concrete the contractor
will need to order. Show or explain all steps
you used to determine the number of
truckloads needed. 

3977; 8M0000MHEXH1231S
FT Form D SP06 (11)

1
2 For question 6,

respond completely
in your Answer
Document. (2 points)

Item 5 has not been slated for public release in 2011.
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6. Un contratista instala una nueva 

acera de concreto. La acera tendrá 580 pies 

de largo, 9 pies de ancho y 6 pulgadas 

de profundidad.

Los camiones entregarán 10 yardas cúbicas
de concreto en cada camionada.

En el Documento de respuestas, determina
cuántas camionadas de concreto necesitará
pedir el contratista. Demuestra o explica
todos los pasos que usaste para determinar 
la cantidad de camionadas necesarias. 

3977; 8M0000MHEXH1231S
FT Form D SP06 (11)

1
2 Debes responder a

la pregunta 6 de
manera completa
en tu Documento 
de respuestas. 
(2 puntos)

La pregunta número 5 no ha sido marcada para ser
hecha pública en el 2011.
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11. In 2000, the population of the United States
was about 2.9 × 108. The land area of the
United States is about 3,500,000 square miles. 

In your Answer Document, find the average
number of people per square mile in the
United States in 2000. Show or explain how
you found the average. 

3518; 8M0000NXIXM1116S
FT Form B SP08 (16)

For question 11,
respond completely
in your Answer
Document. (2 points)

Items 7–10 have not been slated for public release
in 2011.
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11. En el año 2000, la población de los 
Estados Unidos era de alrededor de 2.9 × 108.
La superficie terrestre de los Estados Unidos es
de alrededor de 3,500,000 millas cuadradas.

En el Documento de respuestas, calcula la
cantidad promedio de personas por milla
cuadrada que había en los Estados Unidos
en el año 2000. Demuestra o explica cómo
calculaste el promedio. 

3518; 8M0000NXIXM1116S
FT Form B SP08 (16)

Debes responder a
la pregunta 11 de
manera completa
en tu Documento 
de respuestas. 
(2 puntos)

Las preguntas  a la  no han sido marcadas
para ser hechas públicas en el 2011.

7 10
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On the Spring 2011 Grade 8 Mathematics
Achievement Assessment, items 12–17 are field-test

items, which are not released.



Form A
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En la Evaluación de Rendimiento de Matemáticas
de Octavo Grado, administrada en Primavera de
2011, las preguntas 12 a la 17 son de prueba de

campo, lo cual significa que no es material público.
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18. Laura is analyzing the percentage of her
income she spends on food, clothing 
and housing. 

Which is the most appropriate graph to
represent this information? 

A. circle graph 

B. histogram

C. line graph

D. scatterplot

10964; 8M0000DXBXM1737A
FT Form K SP06 (14)

20. The boat from Scotland to Ireland takes 
2.5 hours and travels a distance of 75 miles.

The distance from Scotland to Norway is 
600 miles. 

About how many hours will it take for the
boat to go from Scotland to Norway if it
travels at the same speed?

A. 3 hours

B. 8 hours

C. 20 hours

D. 30 hours

6874; 8M0000MXDXL1499C
FT Form A SP06 (15)

Item 19 has not been slated for public release in 2011.
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18. Laura analiza el porcentaje de sus 
ingresos que gasta en alimentos, 
vestimenta y vivienda. 

¿Cuál es el gráfico más adecuado para
representar esta información? 

A. un gráfico circular 

B. un histograma

C. un gráfico lineal

D. un diagrama de dispersión

10964; 8M0000DXBXM1737A
FT Form K SP06 (14)

20. Un barco que va de Escocia a Irlanda tarda
2.5 horas y recorre una distancia de 75 millas.

La distancia de Escocia a Noruega es de 
600 millas. 

Aproximadamente, ¿cuántas horas tardaría
la embarcación en ir de Escocia a Noruega 
si viaja a la misma velocidad?

A. 3 horas

B. 8 horas

C. 20 horas

D. 30 horas

6874; 8M0000MXDXL1499C
FT Form A SP06 (15)

La pregunta número 19 no ha sido marcada para ser
hecha pública en el 2011.
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21. The brochure from Store-It-Yourself Storage
shows the monthly cost for storage units. 

In your Answer Document, create a line graph
that shows the relationship between unit size
and cost per month. 

Write an equation that can be used to
determine the per-square-foot cost of a
storage unit with any number of square feet.
Show or explain how you found your equation. 

Then, use your equation to determine how
much it will cost Tom to rent a 10-by-12-foot
storage unit from Store-It-Yourself Storage.
Show or explain your work.

12848; 8M0000ACCXM2184E
FT Form A SP09 (21)

$22.25

$44.50

$66.75

$89.00

25 Sq Ft

50 Sq Ft

75 Sq Ft

100 Sq Ft

Store-It-Yourself

Unit Size Cost Per Month

For question 21,
respond completely
in your Answer
Document. (4 points)

Items 22–24 have not been slated for public release
in 2011.
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21. El folleto de Store-It-Yourself Storage 
muestra el costo mensual de unidades 
de almacenamiento. 

En tu Documento de respuestas, crea un
gráfico lineal que muestre la relación entre el
tamaño de las unidades y el costo por mes. 

Escribe una ecuación que se pueda usar para
calcular el costo por pie cuadrado de una
unidad de almacenamiento con cualquier
número dado de pies cuadrados. Demuestra
o explica cómo obtuviste la ecuación. 

Luego, usa tu ecuación para calcular 
cuánto le costará a Tom alquilar una unidad
de almacenamiento de 10 por 12 pies a 
Store-It-Yourself Storage. Demuestra cómo 
lo resolviste o explica tu trabajo.

12848; 8M0000ACCXM2184E
FT Form A SP09 (21)

$22.25

$44.50

$66.75

$89.00

25 pies cuadrados

50 pies cuadrados

75 pies cuadrados

100 pies cuadrados

Store-It-Yourself

Tamaño de 
la unidad

Costo 
por mes

Debes responder a
la pregunta 21 de
manera completa
en tu Documento 
de respuestas. 
(4 puntos)

Las preguntas 22 a la 24 no han sido marcadas
para ser hechas públicas en el 2011.
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25. Which describes the  27?

A. a little more than 4

B. a little less than 5

C. a little more than 5

D. a little less than 6

111; 8M0000NXHXL0759C
FT Form E OC04 (19)   
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25. ¿Cuál de las siguientes opciones describe la   27?

A. un poco más de 4

B. un poco menos de 5

C. un poco más de 5

D. un poco menos de 6

111; 8M0000NXHXL0759C
FT Form E OC04 (19)   

FT Form D SP10 (26) 
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12429; 8M0000GXBXM1890D
FT Form A SP09 (19)

31. An auditorium has 5 sections of seats. Each
section has between 190 and 210 seats. At a
concert, 75% of the seats were occupied.

In your Answer Document, estimate the
number of occupied seats at the concert.
Show or explain your estimation strategy. 

18419; 8M0000NAGXM2967S
FT Form A SP10 (26)

For question 31,
respond completely
in your Answer
Document. (2 points)

Items 26–30 have not been slated for public release
in 2011.
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31. Un auditorio tiene 5 secciones de asientos. 
Cada sección tiene entre 190 y 210 asientos. 
En un concierto, se ocupó el 75% de los asientos.

En tu Documento de respuestas, calcula la
cantidad de asientos ocupados en el concierto.
Demuestra cómo lo resolviste o explica tu
estrategia para el cálculo. 

18419; 8M0000NAGXM2967S
FT Form A SP10 (26)

Debes responder a
la pregunta 31 de
manera completa
en tu Documento 
de respuestas. 
(2 puntos)

Las preguntas 26 a la 30 no han sido marcadas
para ser hechas públicas en el 2011.
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32. Jason has 50 gallons of water in his bathtub.
The bathtub drains at 4 gallons per minute.

Which equation can Jason use to find the 
total amount of water, w, left in the bathtub
after t minutes?

A.

B.

C.

D.

18540; 8M0000AXDXM2989C
FT Form E SP09 (22)

FT Form B SP10 (24)
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32. La bañera de Jason tiene 50 galones 
de agua. La bañera se vacía a razón de 
4 galones por minuto.

¿Cuál de las siguientes ecuaciones puede
usar Jason para calcular la cantidad total 
de agua, w, que queda en la bañera 
luego de t minutos?

A.

B.

C.

D.

18540; 8M0000AXDXM2989C
FT Form E SP09 (22)
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FT Form C SP10 (25)

For question 36,
respond completely
in your Answer
Document. (2 points)

36. The table shows the batting averages for the
Sousa Middle School baseball team.

In your Answer Document, create a 
box-and-whisker plot to represent the data in
the table. Be sure to identify the median, the
lower and upper quartiles, and the lower and
upper extremes. 

Position Batting Avg.
Pitcher
Catcher

1st Base

2nd Base
Short Stop

3rd Base

Left Field

Center Field

Right Field

.150

.230

.280

.225

.250

.200

.290

.300

.270

1458; 8M0000DAAXM0735S
FT Form A SP07 (26)

Items 33–35 have not been slated for public release
in 2011.
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Debes responder a
la pregunta 36 de
manera completa
en tu Documento 
de respuestas. 
(2 puntos)

36. La tabla muestra los promedios de bateo del
equipo de béisbol de Sousa Middle School.

En el Documento de respuestas, crea un 
box-and-whisker plot para representar los
datos en la tabla. Asegúrate de identificar 
la median, los lower y upper quartiles y los
lower e upper extremes. 

Posición Promedio 
de bateo

Pítcher
Catcher

1ra Base

2da Base
Short Stop

3ra Base

Campo Izquierdo

Campo Central

Campo Derecho

.150

.230

.280

.225

.250

.200

.290

.300

.270

1458; 8M0000DAAXM0735S
FT Form A SP07 (26)

Las preguntas 33 a la 35 no han sido marcadas
para ser hechas públicas en el 2011.
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38 . For a science project, Nick found that the width of a
human hair is about 1.1 × 10–3 inches. 

What is this width written in standard form?

A. 0.000011 inches

B. 0.00011 inches

C. 0.0011 inches

D. 0.011 inches

3439; 8M0000NXAXL1084C
FT Form A SP05 (19)

Item 37 has not been slated for public release in 2011.
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38 . Para un proyecto de ciencias, Nick determinó 
que el ancho de un cabello humano es de
alrededor de 1.1 × 10–3 pulgadas. 

¿Cómo se escribe este ancho de manera estándar?

A. 0.000011 pulgadas

B. 0.00011 pulgadas

C. 0.0011 pulgadas

D. 0.011 pulgadas

3439; 8M0000NXAXL1084C
FT Form A SP05 (19)

La pregunta número  no ha sido marcada para ser
hecha pública en el 2011.

37
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39. The graph shows wolf and moose populations
in a certain region over a 35-year span.

Which conclusion can be drawn from the
data shown in the graph?

A. When the wolf population is low, the
moose population is low.

B. When the wolf population is high, the
moose population is high.

C. When the wolf population is increasing,
the moose population is decreasing.

D. When the wolf population is decreasing,
the moose population is decreasing.

1539; 8M0000DXAXM0832C
FT Form A OC04 (39); Op Form A SP06 (33)
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39. El gráfico muestra las poblaciones de lobos 
y alces en una región determinada durante
un período de 35 años.

¿Qué conclusión se puede obtener a partir
de los datos que se muestran en el gráfico?

A. Cuando la población de lobos es
pequeña, la población de alces 
también es pequeña.

B. Cuando la población de lobos es
grande, la población de alces 
también es grande.

C. Cuando la población de lobos crece, 
la población de alces disminuye.

D. Cuando la población de lobos
disminuye, la población de alces
también disminuye.

1539; 8M0000DXAXM0832C
FT Form A OC04 (39); Op Form A SP06 (33)
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43. Which data set represents continuous data? 

A. Mary’s weekly quiz scores for a period of 
8 weeks

B. the distance a plane travels at a rate of
500 mph

C. the number of pencils brought to school
by 10 students

D. John’s monthly income for a period of 
10 months

739; 8M0000DXBXM0574B
FT Form D OC04 (42); Op Form A SP06 (41)

44. Two vertices of a triangle are located at 
(–2, 1) and (1, 1). 

Which ordered pair would make a right
triangle when used as the third vertex?

A. (0, –2)

B. (0, 4)

C. (–2, –4)

D. (–3, 5)

8359; 8M0000GXDXL1562C
FT Form I SP06 (15)

Items 40–42 have not been slated for public release
in 2011.
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43. ¿Qué conjunto de datos representa 
datos continuos? 

A. Los puntos de las pruebas semanales de
Mary durante un período de 8 semanas

B. La distancia que recorre un avión a una
velocidad de 500 mph

C. La cantidad de lápices que 10 niños
traen a la escuela

D. El ingreso mensual de John durante un
período de 10 meses

739; 8M0000DXBXM0574B
FT Form D OC04 (42); Op Form A SP06 (41)

44. Dos vértices de un triángulo se encuentran en  
(–2, 1) y (1, 1). 

¿Qué par ordenado formaría un triángulo
rectángulo al usarlo como el tercer vértice?

A. (0, –2)

B. (0, 4)

C. (–2, –4)

D. (–3, 5)
8359; 8M0000GXDXL1562C
FT Form I SP06 (15)

Las preguntas 40 a la 42 no han sido marcadas
para ser hechas públicas en el 2011.
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